Whitman College

Econ 358

Exam 1

September 26, 2006

Write all answers in your blue book or on the graph paper provided.   Show all of your work.  The exam ends at 2:20.

1.  Consider the article Without Borders:  Global Exchanges Pose a Quandary for Securities Cops  by Bernard Wysocki Jr. and Aaron Lucchetti, Wall St. Journal, June 5, 2006, page A1.

(a)  (3pts)    What arguments do Wysocki and Lucchetti present for why the electronic trading network IntercontinentalExchangeInc (ICE) should have a U.S. regulator?

(b)  (3pts)  What arguments do Wysocki and Lucchetti present for why ICE should have a U.K. regulator?

(c)  (4pts)  Why, according to the authors, is it hard to establish a formal legal framework for regulating exchanges that cross national borders?

2.  Consider Fisher’s simple savings model of a two period pure-exchange economy with one divisible non-durable good at each date.  Suppose the market interest rate is 10%.   A particular individual, Sarah, has endowments of 30 units of the date 1 good and 0 units of the date 2 good.  Sarah has an investment opportunity that costs 20 now and provides benefits, with certainty, of 25 next period.  

(a)  (10pts)  Calculate the net present value (NPV) of this project. 

(b)  (5pts)   Explain what present value means.

Suppose Sarah gets a relatively high amount of satisfaction from date 1 consumption and a relatively low amount of satisfaction from date 2 consumption.  She therefore plans to reject the investment opportunity, because it requires her to give up date 1 consumption.

(c)  (15pts) Using indifference curve analysis, explain whether Sarah is better off rejecting or accepting this investment opportunity.

3. Theories of savings often claim that if the interest rate rises while everything else stays constant, then savers will wish to lend more. Consider the validity of this claim in Fisher's simple savings model.

(a) (5pts) Draw a budget line and set of indifference curves for a person who wishes to lend at the current market interest rate, r. Indicate on your graph how much this person wishes to lend. 

(b) (5pts) On your graph from part (a), show the new budget line the individual faces when the interest rate rises to r*. Indicate on your graph how much this person wishes to lend now. 

(c) (15pts) Is it necessarily true that every saver will wish to lend more as the interest rate rises? Explain, with reference to Fisher's simple savings model. You might need to use another graph of indifference curves and budget lines to make your point.

4. (a)  (5pts)  Define an annuity.

(b)  (10pts)  Derive the formula for the annuity factor, which gives the present value of an annuity of one dollar when the interest rate is r. Show and thoroughly explain all of your work. 


5.  (20pts)  Suppose that the market interest rate is 6%.  An individual, Thomas, has just won the state Ten Million Dollar Lottery.  The state will allow him to pick one of the following three options for collecting his winnings.  Which should he pick?  Explain your reasoning.

Option A:  Ten annual payments of one million dollars each, starting today.

Option B:  Ten annual payments of $500,000 each, starting today, plus a five million dollar payment ten years from today.

Option C:  Five annual payments of two million dollars each, starting four years from now.

